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EEWSE P 425
PL KPI (3E£3h) BHAFE - HiF48 (4 AKR) LEBPL GERHHESD)
FERHV AT L $1187 ==X [v2 FH
EIEEERMELY
HE THE BEHRA (4BK) | TE  SHFEER =15 PRIV <1
BEARE BEARET BEARE pri:R: i} pi:: ]
ks (FA) 630,000 560,000 A 70,000 & B&
BRFEEE (@) 700 700 0 & B&
FHEIRGTEM (FA) 900 800 A 100 B A%
LEAEFIZE (FA) 630,000 560,000 A 70,000 B A%
HIEAICO2 HEHHE (t) 140.0 142.8 2.8 B A%
CO2HIBE (t) 28.0 28.4 0.4 & B&
BB CO2HEHE (t) 112.0 114.4 2.4 B& B
ABE (N) 13 13 0 A& B
—A%7=-Y%EE (FA) 48,462 43,077 /\ 5,385 B A%
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EENTEHE

B5E P331~P443

$oE EEMEL(FEE)

BAREMFEBSL Y, BHFRILEBSOZMICEEALTT SV, BERZEREEZIEIT IV,

EREMLE P 391
BS 4 ARBE_FHFEBS
FREFVRAT L $E114 B FREXS (4 RREE)
BSEH#FAETTIR & Y BEERRD B2 &Y Bifi FH
B S L BUS B Ria R A RA
4 R 5H B 1A 2H 3R
REREE 630,500 686,780| B% 1,068,700 Ll 1,125,900V 1,187,500
itE 104,280 43,120] g 57,200 LK 61,600 A\
BESE 734,780 729,900] "% 1,125,900 Lt 1,187,500V 1,253,500
RILVHEBRSF 52,480 8,400] & 44,400 pLVE 50,000 pav£:
afEAE 52,480 8,400| E& 44,400 W.v4: 50,000 PLV£)
X% 100,000 100,000| & 100,000 paX:¥3 100,000pa%:2Y 100,000
UM BRRE 582,300 621,500 &% 981,500tk 1,037,500 .40 1,097,500
MEEAS 682,300 721,500] Bg 1,081,500 k) 1,137,500p,%LY 1,197,500
BERVHEESH 734,780 729,900] &% 1,125,900 LE) 1,187,500 EN 1,253,500
BHIEEBS e H 5T
EREMLE P 427
BS BHFE - HtFE (4 AXK) LLEBS
FEREH AT L 551188 Eifi FH
BIFHEEMELY
HE FE BRA(4 AX) FRER RE RGER
BHEARE BHARE BHEARE gL A
REREE 1,258,750 1,187,500 A 71,250 B B&
itE 74,250 66,000 A 8,250 B B
BEAF 1,333,000 1,253,500 A\ 79,500 B B&
RILVHERSF 63,000 56,000 A 7,000 B B
afEAE 63,000 56,000 A\ 7,000 B B&
X% 100,000 100,000 0 B& B&
UM BRRE 1,170,000 1,097,500 A 72,500 B B&
MEEAS 1,270,000 1,197,500 A 72,500 B B
BERVHEESE 1,333,000 1,253,500 A 79,500 B B

AREMTE ELEL Y, BHFPELR ESPNZOZRICBALTTFIV, BERIEEZIHIRT I,

ERXEHE P 407
aE 4 ARBRE BT E BEREHE
FEESHYZAT LA 51148 Bt FRXS (4 AREE)
#® i FRTIRS Y B8 HE2m&Y i FH
M e RiA Bg RiA A RiA AMWRA
4R 55 B 1A 2R 3R EHRE
55 LIRA 44,000¥05§ 104,280| & 44,000Q80F]  57,200f800 61,6008 649,000
BEEXH 48,000| B ] Az09 [ A110 48,000
BRINX 44,000NEE]  56,280| & 44,000f8P2}  57,200f¥EX 61,600 Ny 601,000
RAMEEES 586,500%8(] 630,500 Bg WNBEY 1,024,7000Nk»4 1,068,700 Nk4] 1,125,900 kb 586,500
BX&E®%ES 630,500:%5kd 686,780| EE WNKL] 1,068,700f:NFE] 1,125,900f:NF%] 1,187,500 P:VFL) 1,187,500
EEE. [0FA] & [0FA] &&RRT 3,
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EBEMNISE F5E P331~P443

$oE EEMEL(FEE)

EXMRKLE P 437
B® BHFE - BHFR (4AK) LB ESNX
FERHV AT L 1157 B FH
BIFHEEMELY
M FE AtRIAGAR) FRER [REA IR
BEARE BHEIR WEARET EEA HEHA
e LIRA 55 722,700 Y3 649,000 A\ 73,700 B B
MEFZH 58 49,500 pe) 48,000 A 1,500 B B
BEEINX 61 673,200 YA 601,000 A\ 72,200 B B
BY&EEES 64 585,550 i3 586,500 950 B B
AXRESRZES 67 1,258,750 i1 1,187,500 A\ 71,250 B B

FIMDAREHFECFL Y, BHEFHE - BHFE (4AK) LB CFOEMICEALTTIL, BEREELZIHERATIWL,

EEHEE P 422
CF 4 AXRBE At FECF
FHRHY AT L H11 EHFRXS (4 ARBTE)
CF&IFTTIRS Y HEhERRD H3MLY B i M
s ik RiA B RiA RiA F5A it A

4R 5H B 1A 2R 3R B
B3| 50 L HARR 25 44,800 NEF  39,200] & 52,00086x]  56,000[¥EM] 60,000 ¥ES 560,000
5 L BIE DI A 5,280 8Eld  61,160] B& A 13200086 A 440058 A 4,400 ¥ 2H 33,000
KILHEBE DR 4,480 [NEE] A\ 44,080| & 5200085  5600f8  6,00008%y 8,000
EEEMCLBHCF 44,000f¥8] 56,280| B& 4400086  57,200f¥67  61,600[0NEE! 601,000
REFHCLBCF 0] B 0 0
BE5EENIC L BCF 0 0] B 0 0 0 0
RERVRERENO
:;:; RS 44,0004 56,280 B¢ PNGI 44,000 A163 S 61,600 NS 601,000
3 VIRE R D
;zg: REREH 586,500[0¥E] 630,500 & PRLEN 1,024,700 A164 A167 [RIPIXIN] A170 586,500
~ =]
3 IRE R D
R UREREY 630,500[8EL] 686,780 #& WNCFY 1,068,700[8LE 1,125,900 ME] 1,187,500[%%E) 1,187,500
HRZES

& A8CF
EEMEE P 432
CF BEHTH - B FE (4 AK) HBCF
FERHYATL 115, B LK.
EIBETMEL Y
HE FE AHittRA(4 AXR) FRER R XIS

BHAR ST BHARE BHAR ST B B HA
B3| 8 X4 LR 28 630,000 g1 560,000 /\ 70,000 B B
55 EEEDIERE 29,700 e 33,000 3,300 B B
KILHBEBE ORE 13,500 A 8,000 /\ 5,500 B B
HEEHICKBCF 673,200 K0 601,000 A 72,200 B B
BREFBMCLBCF 0 0 0 & &
BA75EENIC L BCF 0 0 0 BE &
RERVRERN SO
4 82 673,200 601,000 /A 72,200 " &
RERVEERFNO
MBS 89 585,550 586,500 950 " "'g
BERUVRERFYOD
RERUREFEY o8 " "
HiK % 1,258,750 1,187,500 A\ 71,250
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